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fibO O

0 O 0$f(x+1)=f(x)+f(x-1)+(-1) ~n+x\%5+\Ifloor{\log_{2} {x} }\rfloor,f(1)=f(2)=1$ 00 O $n$ O O
$n\le10"~{18}$

O0000009$%A=\left(\begin{array} {} 1&1&1&1&0&0&0&0&O0WN1&0&0&0&0 &0
&0&0&0OWN0&0&-1&0&0&0&0&O0&OWN0&O0&0&0&T1&2&3&4&0N0&0&0&D0
&0&0&0&O0&1IVNO0&O0&0&O0&1I&O0&O0&O&ONO&O0&O0&0&O0&1I&O0&O0&OWNO0&DO
&0&0&0&0&1&O0&OW0&0&0&0&0&0&0 &1 &0 {} \end{array}\right) $$ 0 OO
$$F=\left(\begin{array} {} f(x) \f(x-1) \ (-1)*{n} \Ws W\ ?\ 2\ ?\\ ?\\ ? \end{array}\right) $$ O O
$25000 %0180 0000 $$F=\left(\begin{array} {} TWIW1IW2WOWO0OW1IWO0\W\O
\end{array}\right) $$ 00 0000000000000 0O00O0O $\legé DO ODODOODOO
$\Ifloor{\log_{2}{x}}\rfloors 0O OO OO OO0
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